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1. HEEHE
H25.1~11 H24.1~11 H25.4~11 H24.4~11 H25 4 B H254 B
108 118 (H25 83 | FIERR) ||HBEERED |ATEERED)|| E1m3$EH | E2m3H
HEF-ERFE 27,119 26,009 || 305298 | 320,190 214,850 | 221,651 78,367 83,355
(A2.0) (A49) (A4.7) (0.8) (A3.1) (A0.2) (A3.0) (A2.8)
hxzr 26,455 25497 || 298,342 | 312,756 | 209,776 [ 216,221 76,384 81,440
i (A2.0)| (A45) (A4.6) 0.7) (A3.0) (A0.3) (A3.0) (A2.8)
=R 664 512 6,956 7,434 5,074 5,430 1,983 1,915
H (A26)] (A20.6) (AB.4) (2.5) (AB.6) (1.7) (A5.1) (A49)
= = 2,705 2,543 28,274 29,614 20,831 21,806 7,564 8,019
07D (A124) (A45) (5.8) (A45) (7.6) (A3.8) (A4.1)
] = 10,929 9,282| 107,711 109,198 79,890 80,485 30,422 29,257
(23) (A12.1) (A1.4) (11.7) (A0.7) (12.9) (0.9) (0.6)
ER5 9,573 8,343 95,115 98,570 70,897 72,346 27,039 25,942
(1.7) (A9.5) (A35) (13.3) (A2.0) (14.2) (A1.9) (A0.8)
= Hi 40,753 37,834/ 441,283 459,002 315,571 323,942| 116,353 | 120,631
(A0.7) (A7.3) (A3.9) (3.5) (A26) (3.3) (A2.1) (A2.1)
B E KX & 16,553 14,325 160,955 168,486| 120,523 122,742 45,194 44,451
(A1.9) (A7.8) (A45) (16.0) (A1.8) (16.2) (A24) (1.0)
2. ERHEEHE
H25.1~11 H24.1~11 H25.4~11 H24.4~11 H25%E & H25%E &
104 118 (H25E 25D | BIERYD) [[((HsEERED ((RTEERSD)|| H1mEs | Fom
| mmERE 3,679 3,209 39,370 38,987 27,320 27,881 10,006 10,426
c (A1.0) (A12.8) (1.0) (13.0) (A20) (15.7) (A0.4) (A0.2)
Sl [ 4,686 4,531 49,292 48,594 36,578 35,769 14,334 13,027
(1.5) (6.3) (1.4) (3.8) (2.3) (2.7) (2.1) (1.4)
? | x@EER 180 137 1,689 1,925 1,236 1,396 455 464
N (21.6) Gl (Aa123) (35.9)  (A115) (35.5) (A203) (A15.2)
7 e EE 1,356 939 12,596 10,628 8,993 8,139 3,383 3,315
o [EEEET (6.9) (A2938) (18.5) (A1.3) (10.5) (2.7) (30.9) (12.4)
3. FHHBEEERE KRRV ERAHERMET M EE K4
H25.1~11 | H24.1~11 H25.4~11 H24.4~11 H25 H25F
108 118 (H25E 25 | FTERE) ||(H5EERED |FIEERSD| F1msn | FomtH
B HEEERS 19,429 19,198 | 219,377 | 225892 155595 155913 56,555 60,413
(0.4) (A7.8) (A2.9) (A2.6) (A0.2) (A3.5) (2.4) (A0.2)
1 4E 4 19,348 20,813 | 225892 | 231,809| 155913 161,501 55,227 60,525
” (1.8) (A5.5) (A2.6) (A1.1) (A3.5) (0.7) (A0.7) (AB.7)
ERAFE 29 26 398 475 283 361 127 101
H s E (A383) (A447| (A16.2) (5.9)]__(A21.6) (8.4) (A6.6) (A229)
4. BHEERHH
H25.1~11 [ H241~11 || H254~11 | H24.4~11 H25% & H25% &
108 118 (H25E 85 | FIERY) ||HBEERED |FTEERSD)|| H1mEE | H2mH
== TR 2,215 2,100 22,315 22,699 16,749 17,105 6,222 6,212
(A7.5) (A2.1) (A1.7) (AB.9) (A2.1) (A4.7) (0.3) (A2.4)
m 17 10 216 198 163 159 61 75
% o (A26.1)] (A47.4) 9.1)]  (A19.8) (25) (A19.7 (A15.3) (66.7)
T OE 39 21 207 148 160 107 48 52
i : (129.4) (90.9) (39.9) (15.6) (49.5) (11.5) (14.3) (40.5)
5 I 1 13 29 33 25 27 9 2
(A75.0) (160.0)| (A12.1) (3.1) (A7.4) (8.0) (50.0)[ (A83.3)
~ = 2,272 2,144 22,767 23,078 17,097 17,398 6,340 6,341
= A (A638) (A16) (A1.3) (A6.9) (A1.7) (A4.8) (0.3) (A1.8)




H25.1~11 [ H241~11 || H254~11 | H24.4~11 H254 H254

108 1B ||HsERe) | GiER) ||HosmrReh |GIEERS)|| S1mEs | Homys

- 0 0 0 0 0 0 0 0

= EE TR 0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
— 0 0 4 8 4 8 3 1

= (0.0)] (A 100.0) (A500)] (A11.D) (A50.0) (33.3) (50.0) (0.0)
o 0 0 0 1 0 1 0 0

25 i (0.0) (0.0)]| _(A100.0) (0.0)]|_(A100.0) (0.0)]| _(A100.0) (0.0)
y o= 0 0 0 0 0 0 0 0

= (0.0) (0.0) (0.0)] (A100.0) (0.0) (0.0) (0.0) (0.0)
Sl 0 0" 4 9 4 9 3 i
= (0.0)| (A 100.0)] (A556)] (A18.2) (A55.6) (28.6) (0.0) (0.0)
H25.1~11 | H24.1~11 H25.4~11 H24.4~11 H254E H254E

108 118 (H25 85 | RTERR) ||HBEERED |ATEERED)|| E1m3EH | E2m3H

== TR 36 27 314 378 248 275 112 73
(AT (A289) (A16.9) (A8.9) (A98)| (A14.1) (30.2)] (A34.8)

Bl m 2 1 19 12 9 7 3 3
(100.0) (0.0) (58.3)|  (A14.3) (28.6)] (A46.2) (0.0) (50.0)
oo 2 1 12 13 10 11 7 0

K (A50.0)| (A50.0) (A7.7) (A7.1) (A9.1) (A8.3) (250.0)| (A100.0)
A = 40 29 345 403 267 293 122 76

= A (A1) (A293)  (A14.4) (A9.0) (A89) (A15.1) (34.1)]  (A35.0)
H25.1~11 H24.1~11 H25.4~11 H24.4~11 H255 & H25% &

108 18 (H25E 25T | ATERY) ||(HEERID (AIEERD)| FH1mFE | FomtH

- 97 90 946 837 769 641 297 285
BERM|  gap| @29  (130)| (a29)] 00| (a260) 88)| (223
_— 6 12 90 107 63 72 20 25
(A25.0) (0.0)] __(A15.9) (4.9 (A125)] (A11.1) (A9.1)] (A16.7)

] o 115 144 1,103 953 840 696 300 281
’ (36.9) (65.5) (5.7 (A11.0) (20.7) (A7.2) (5.6) (16.6)

B o= 0 0 6 4 5 2 4 1

- (0.0)] (A100.0) (50.0) (0.0) (150.0) (100.0) (0.0) (0.0)
= 51 32 441 373 344 289 132 129
- (27.5) (33.3) (18.2)] (A14.1) (19.0) (A8.3) (23.4) 9.3)

A = 269 278 2,586 2,274 2,021 1,700 753 721

- " (31.9) (48.7) (13.7)]  (A17.5) (18.9)] (A15.5) (9.8) (15.7)




